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6 pdea 02| 0 0/2 1 1 37:36
8 =4 9/12| 75 | 4/4 |3/3 0/1 2/3| 071 1 4 45:00
9 BER 3/5 | 60 | 2/2 1/1| 0/2 1 1 19:39
10 E= 1/2 | 50 | 0/1 1/1 3 18:18
12 ZRPE 15:00
14 P8 0/1| 0 0/1 15:00
15 B 0/1| 0 0/1 1 15:00
16 BilE 44:29
20 i 1 1 22:23
21 FREIE 7/10| 70 | 0/1 |0/1{1/2|3/3|2/2|1/1 1 38:31
24 B 00:00
30 FlAF 1/6 [16.67| 1/4 |0/1 0/1 1 1 1]|1 45:00
37 WeEE 5/7 [71.43 4/5 1/1|0/1 1 11 2 40:54
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&it 33/57|57.89|12/20(7/10| 1/5 |3/4]| 3/3 |6/10| 1/5 3 4110(2 |42 3 06:53:30

FIR REK / 5911 Bt
#2 &it| % | 9m | 6m |ib&s | 7m | Rk | 88 (EEKiBinst
12 EEFE 2/12 11667/ 0/2 | 0/3 [ 0/1]0/1 | 1/1 ] 1/4 15:00
16 BiKlE 11/32[34.38] 5/6 | 0/3 | 1/3 | 1/2 [ 1/3 [3/15 44:29
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37 T 00:00
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50 SRE 1/1 | 100 1/1 1 15:00
52 2 3/3 [ 100 3/3 3 1 1 34:13
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